BTOW pedRes Z=ADC-DBped, saturated @ |3

120

o
o

oe]
o

y: phi binzsecto

(o)}
o

40

20

b 5 10 15 20 25 30 35 40
x: etaBin ,[-1,+1]

ETOW

[o2]
o
[%8)

y: phi bin ~sector

al
o
N

40

=Y

30

o

20

10

0
0 2 4 6 8 10 12
x: 12 - Endcap etaBin ,[+1,+2]



[BTOW pedRes crate=0x01 (dec=1) | [BTOW pedRes crate=0x02 (dec=2) |
10

10

ADC - DbPed
ADC - DbPed

x: chan + 160*crate x: chan + 160*crate

10

ADC - DbPed
ADC - DbPed

x: chan + 160*crate x: chan + 160*crate

@
pr
2
o
o
Q
T
[v]
n
2}
=3
[¢]
]I}
o
X
o
(5]
~
(=N
o
o
1l
o)

ADC - DbPed
ADC - DbPed

M T = [ B | i i i o,
800 18(0 820 840 880 920 940 960
x: chan + 160*crate x: chan + 160*crate

K
s
(=]

ol

o2

(=]

o

fes]

Ol

~

Ol . .
(=]

~

N

Si

o

IN

(=]

~

o

(=]

~
.
O



[BTOW pedRes crate=0x07 (dec=7) |

10

ADC - DbPed

P R
1100 112
x: chan + 160*crate

5 10
I
a
o
fa)
Q
a
<
N N P - I I | P -
1300 1320 1340 1360 1380 1400 1420 144
x: chan + 160*crate
[BTOW pe
o
o
2
fa)
Q
a
<

P BRI
1720 1740
x: chan + 160*crate

[BTOW pedRes crate=0x08 (dec=8) |

ADC - DbPed

@
pr
g
el
o
o
T
[1]
(2]
(2]
Q
28
[}
11
o
x
o
Q
a
o
[}
Il
L
=

x: chan + 160*crate

10

ADC - DbPed

[BTOW pedRes crate=0x0c (dec=12) |

N
1580 1600
x: chan + 160*crate

ADC - DbPed

7Y —ENE R
65 780 800

P
1820

P
1900 1920
x: chan + 160*crate



[BTOW pedRes crate=0x0d (dec=13) |

ADC - DbPed

_ﬁ%—...i...J_.
20 1940 1960

[BTOW pedRes crate=0x0f (dec=15) |

x: chan + 160*crate

T
[
[N
%
a
9]
a
<
.
7380 2400
x: chan + 160*crate
[BTOW pedRes crate=0x11 (dec=17) |
k=l
j53
o
=3
a
%)
a
<

x: chan + 160*crate

[BTOW pedRes crate=0x0e (dec=14) |

o

)
%
o
a
Q
a
<

P R
2220 2240
x: chan + 160*crate

10

ADC - DbPed

N |
2540 2560
x: chan + 160*crate

ADC - DbPed

P -
2780

P -
2800

PR
2820

P -
2840

P B ||
2860 2880
x: chan + 160*crate



[BTOW pedRes crate=0x13 (dec=19) |
10

ADC - DbPed

[BTOW pedRes crate=0x15 (dec=21) |

L
304
x: chan + 160*crate

N A
3340 3360

x: chan + 160*crate

[BTOW pedRes crate=0x14 (dec=20) |

ADC - DbPed

x: chan + 160*crate

10

ADC - DbPed

o 10 =

a

s

a

Q

a

<
M P
3220 3240

[BTOW pe

o

j7

a

2

a

Q

a

<

3660 3680

x: chan + 160*crate

x: chan + 160*crate

ADC - DbPed

Y =N B I
Heo 3700 ETZ)

x: chan + 160*crate



[BTOW pedRes crate=0x19 (dec=25) |

ADC - DbPed

.

0

x: chan + 160*crate

T
[
[N
%
a
9]
a
<
* 7320
x: chan + 160*crate
[BTOW pedRes crate=0x1d (dec=29) |
k=l
j53
o
=3
a
%)
a
<

P R
4620 464
x: chan + 160*crate

[BTOW pedRes crate=0x1a (dec=26) |

ADC - DbPed

@
pr
g
el
o
o
T
[1]
(2]
(2]
Q
28
[}
11
o
x
=
(2]
a
o
[}
Il
N
&

x: chan + 160*crate

10

ADC - DbPed

-
4480
x: chan + 160*crate

ADC - DbPed

x: chan + 160*crate



ETOW pedRes crate=1

10

ADC - DbPed

m
o
(e}
H

o
®

x: chan + 128*crate

ADC - DbPed

ETOW pedRes crate:

380
x: chan + 128*crate

10

ADC - DbPed

x: chan + 128*crate

ETOW pedRes crate=2

10

ADC - DbPed

ETOW pedRes crate=4

x: chan + 128*crate

10

ADC - DbPed

x

ETOW pedRes crate=6

: chan + 128%cr

10

8

ADC - DbPed

x

: chan + 128*crate



| total event counter |

y: events

9000
8000
7000
6000
5000
4000
3000
2000
1000

0

Entries 240000
Mean 1.5
RMS 0.8165

I I I I 6

X=cases
Entries 80000
; : Mean 80.22
"""""""""""""" RMS 7.512

P i P S ST N SR T T W N S S T i P ST N YN SR SR WO NN T ST W W N S T T
150 200 250 300 350 400

450 500
x: time (CPU 20*kTics)




